o0 O00Odod #30

1.3 O0Oooooood

P — @ 00000
oooo oooo

P —QUD0O000000ODOOQU PODODOODO)OOOO
O (necessary condition) 000000000 PO QO O0OODO)O
0000 (sufficient condition) 0 0 00

P —Q0Q — PO00OOOOOPOQOOOOODD
O000000000000000O PO QODODOOOOO (sufficient
and necessary condition) 0 0000000000 QO pPOOOO
goooooo

P —QO000000Q — POOODOOOOPOQOIDD
O0o0o0oooboooobo0obooboo U POOODDO
goodooooobobood

P —=Q0Q — PO0OOOOODOODD POQOODDD
00000000000 DOO00DO0 QO PODOOODODOODODOO
goooooo

goooogodoooooooodoooooooooon
O0oo00oooooooooooooooooooooooon
gooooon
P =Q<R

00000000 PROIDODODOOODDQEODDODODOODO (ODDOO
01=10)00000P = QU R = QUO0O000O0O0O0OO
QU pPOO0O0OD0O0ODOO0OROQUOLOOOODOUODRO POO
oboobobooobooboopPO ROODDOOODOOOODOD
gboboboooobbodgd

P = R

0000000000000 QUOO000000 (DoOoOo1+#
10)00ooooooo

gbbouugobooobooobuoboooboooboo
gboubobobogboboooobobobuooboboobo
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00000, y0000M 24000 y#000 (z,y) # (0,0)
oooood

]DDDDDDDDDDDDDDDDDDDDD\

XO0Oz=000YOOy=000Z00(x,y) =(0,0000000
PO0z#000y#0000000PO00-XA-YODODODOODO
0QOO(z,y) #(0,0000000QO0-~Z00000000

(r,y) =(0,0) <= (x=0Ay=0) oooo
A — XANY

gbobboooobbboooobbboooobboboood

X|Y | X|Y | P=-XAY|Z|Q=-2|P =Q
T|T| F F F T F T
T F| F T F F T T
F|T| T F F F T T
F|F| T T T F T T

Hmw%ﬁ

O0o0o00b P =QUO0000000Q = POODOODDOO
ooooooooboD pPO@QOODODODODODODODOD
gobobooooobooo

000019 00000 XOYOO 1H)OoOoooooo2)oo
O000000000D0OO0oO0oOoos3)oogooooooooo
0000004 000000000O0O0ODOODODOODODODODODOO
gobbbooodoib z,y0oooooog

(1) X:22=1, Y:z=1

(2) X:2zy>0, Y:z>000Oy>0

3) X:2zy>0, VY:z>0000y>0

(4) X:2y=0, Y:z=000Oy=0

(5) X:2zy=0, Y:2=0000y=0

(6) X:2=10000000y=1, Y:ay=1

(1) X:z2=0000000y=0000, Y:zy=0000
8) X:zy=000y=z+1, Y:z=000y=1

(9 X:2?+2r—1=0002>0, YV:o=-1++2

gboogboobboobbooboobuooboobooboo

17




0000000000 2000000000®WO000000000
gboobobobooboobooboobooboobob

y(1—222—9y?) =0
r(l1—2?—-3y%) =0

O00D000000aexp=00000000000000a=0
000 p=000000000000000000ODODOOOO
axf=00000000000a=0000p=0000000

y(1—222—9?)=0 <= y=0V 1—-222—¢y*=0
0 <= =0V 1-22-3°=0

gobooogd
y=0000000Y01-222—3?=0000000 AOz=0
000000 XO01-22-3=0000000 BOOOO

YVAANXVB) = (YVAANX)V((YVA)AB)
= YAX)V(AANX)V (Y AB)V(AAB)

goboboogg

y(1—222 —y?) =0 A x(1 —2® = 3y*) =0 =
(y=0Az=0)V 1-222-9y>=0Az=0)V
(y=0A1—22-3y*=0) V (1-222—y?> = 0A1—22—-3y*> = 0)

D00 YAXOAAXOYABOAABO400OOOOOOOOO
oooooooo

000YAXOOOOOOOOOOOOOOOO z =000
y=000000 (2,9) =(0,000000

00 AAXDOOODOODOOOOOO0 AD1-22%2—¢2 =0
0XOz=00000002z=001-22—y?>=00000
000y =10000000y=1000y=-1000000
00000 (z,y) = (0,1)000 (z,y) = (0,—1) 0000000
(z,y)=(0,+1)000000000

00 YABOOOOOOOOOOOOy=0001-22-3y2=0
00000000y=001-22-3?=0000000022=10
0000002=10002=-100000000000 (z,y) =
(£1,0)0 000

WOooooooI1oooo
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000 AANBODODOOOOO01-222—y? =000 1-2%2-3y>=0
O0000000AOOBOOOO —22+2y2=00000000 B

1
00000001-5=0000000000000y=—=00

V5
1 2
Dy:———DDDDDDDDDDDDBDDDDDDx:ii:
V5 V5
2 1
0000000 (z,y) = ii;i—— (00o0ooooo)od
NGRS

gobobooooboboboood

(z,y) = (0,0),(0,£1),(£1,0), <j:%, i%)

goboo
O0000000oooooDoO(x,yyD0OD0ODOO

y(1 —22% —y*) =0, z(1—2°-3y*) =0

gbobboooobbodaod

V2 1
%’iﬂ

(z,y) = (0,0),(0,£1),(£1,0), <:|:

0oo®o

0000000000000 0000o00ooooooooon
000000000000000000000000000000
000000000000 00000000o0ooooooon
oo0ooooooo

000000000000000000000000000000
D000000000000000000000000000000
000000000010 10000000000000000000
000000000000000000P, = P, P, = Py---
000000000000000000000000000000
O00000000000000000000000000000
000000000000000000000000000000

(poU00000000000000000D0000000000000On
goboobobooooooboooboobooboobobooooboooooao
gboobodgbobooboboboooooboboobobobooooboa
gobooobooooboooboooboboboooboooboboooobooooboaon
gboboobooaobooboobooboobbooboaoboobooogan

19



gbobbbuooobbbuooodgbobbbouoooobobbodao
gobobooogoobooooboon

gobboogoobobodan
gobbobooodn

godd 1.10 DOoooooooooooo

(1) 2(2®+4?) =000 y(z>+¢y*—1) =0

2) 2 —2r+y=000¢*+2—y=0

(3) (y —22%)2~"" ¥ =000 (z — 22?27 ¥ =0

(4) sinz (cosysin(z +y) +sinycos(zr +y)) =000
siny (cosxsin(x 4+ y) + sinx cos(x +y)) =0
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